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Instructions : (1) All questions in Section-I carry equal marks.
(2) Attempt any two questions from Section-I.
(3) Q.5 in Section-II is compulsory.
SECTION -1
1. (A) Define Management Accounting and explain the difference between Management
Accounting and Financial Accounting. 10
(B) Following information regarding production of a company is available. Prepare
Comparative Profit and Loss statement from the information of these two years. 10
Profit and Loss statement
Particulars 31-3-2019 31-3-2020
3 4 4 4
Sales 97,500 1,05,000
Less : Cost of goods sold
Opening stock 9,500 10,500
Raw materials consumed 32,500 37,500
Direct wages 30,000 36,250
Factory expenses 24,000 25,500
Admin. and selling expenses 10,500 12,000
1,06,500 121,750
Less : closing stock 10,500 | 96,000 17,500 | 1,04,250
Net profit 1,500 750
Unit produced 6,000 5,000
Unit sold 5,000 4,000
2. (A) Calculate from the following information : 10
(1) Net profit ratio
(2) Return on capital employed
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Other information :

Fixed Assets (cost)
Depreciation fund

Bank overdraft

Liquid Assets (excluding stock)
Liquid Liabilities
Investments

10% debentures

Adjusted purchases

Stock turnover

(on the basis of closing stock)
Gross profit ratio

®)
54,80,000
2,80,000
10,00,000
60,00,000
50,00,000
8,00,000
2,00,000
40,00,000
20 times

33 %

Net profit after interest and taxes 13,00,000
Following details are shownin P & L A/c:

Loss on sale of assets

Profit on sale of shares
Provision for taxation
Dividend received on shares

®)

20,000
80,000
3,00,000
40,000

(B) Explain the limitations of Ratio Analysis.

3.  (A) (1) Following are the extracts from the Balance Sheet of Sam Co. Ltd. :
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Particulars 31-3-2019 31-3-2020
g i
Profit and Loss a/c (Cr.) 7,00,000 11,20,000
Provision for taxation 1,40,000 2,10,000
Proposed dividend 70,000 1,40,000

Additional Information :

(1) During the year the tax was paid < 35,000.

(2) During the year dividend for the year 2018-19 was paid ¥ 14,000.
Calculate the funds from the operation of business.

(2) Following are the Balance Sheets of Jia Ltd. :

Particulars 01-04-2019 31-3-2020
3 3
Assets :  Land & Building 4,00,000 6,00,000
Furniture 2,00,000 1,60,000
Debtors 3,00,000 4,00,000
Stock 3,00,000 4,00,000
12,00,000 15,60,000
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Liabilities : Creditors 1,60,000 1,30,000
Bank Loan 6,40,000 5,70,000

Share Capital 4,00,000 8,60,000

12,00,000 15,60,000

A building worth ¥ 1,00,000 was sold for ¥ 50,000, which had accumulated
depreciation of ¥ 40,000. The depreciation provision was I 1,40,000 and
1,20,000 respectively.

Prepare the Accounts of Depreciation Provision and Land and Building from
the above details.

(B) Explain the difference between fund flow statement and cash flow statement. 10

4.  From the following information of Nimisha Ltd. prepare the cash budget for three
months from April to June : 20
(1) On 1-4-2020 cash and bank balance is ¥ 1,50,000.

(2) | Month Sales Closing stock | Wages Overheads

February 2,25,000 37,500 22,500 45,000
March 3,00,000 22,500 30,000 52,500
April 3,75,000 22,500 36,000 60,000
May 4,50,000 37,500 42,000 67,500
June 4,50,000 52,500 48,000 75,000

(3) Goods are sold at profit of 25% on cost.

(4) Purchases are made for cash at 10% cash discount and assume that 40% of total
sales are cash sales.

(5) Monthly fixed overheads of I 15,000 and half yearly depreciation on fixed assets
3 45,000 are included in overheads.

(6) Income tax of ¥ 15,000 in the month of June and bonus to staff of I 40,500 to be
paid in the month of April.

(7) Income of % 72,000 is due in the month of May.

(8) Time lag : Credit sales 1.5 month, wages 1/4 month, fixed overheads in the same
month, other payment 1 month.

(9) A minimum cash balance of ¥ 75,000 is to be maintained and in doing so if it is
required a loan in multiple of ¥ 7,500 can be taken on monthly basis with 12%
interest p.a. and can be repaid with interest whenever it is possible.

SECTION - 11
5. Select the appropriate alternative : (any five) 10

(1)  Which of the following tools and techniques are not used by Management Accounting ?
(a) Marginal Costing (b) Operating Costing
(c) Standard Costing (d) Budgetary Control

(2) A company’s operating ratio is 70% and sales are I 6,00,000, sales return is
% 1,00,000. If the cost of sales is I 3,00,000, find out operating expenses.

(a) <3,00,000 (b) 50,000

(c) 2,50,000 (d) < 1,50,000
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is not a profitability ratio.
(a) Rate of Return on capital employed
(b) Expenses ratio
(c) Operating ratio
(d) Stock turnover
Fund flow statement and cash flow statement are presented to
(a) Board of Directors (b)  Production Manager
(c) Sales Manager (d) None of the above

Which of the following statement is correct ?
(a) Inthe budget quantitative as well as monetary figures are given for the next
period.

(b) Budget is a system of putting estimates for next year based on figures of
previous year.

(c) The task of preparing budget is that of accountant only.

(d) Only quantitative data are given in the budget.

A company is preparing a production budget for the next year. The following

information is relevant :

Budgeted sales 20,000 units, opening stock 1,200 units, closing stock 5% of
budgeted sales. The production process is such that 10% of the units produced are
rejected. What is the number of units required to be produced to meet the market
demand ?

(a) 17,800 units (b) 19,800 units

(¢) 21,800 units (d) 22,000 units

According to Purchase budget, material purchase =

(a) Required material for production

(b) Required material for production + opening stock — closing stock
(¢) Required material for production + closing stock — opening stock
(d) None of the above

Cash budget is a useful tool for .

(a) Tax Planning (b) Financial Planning

(¢) Purchase Planning (d) Sales Planning

Wages of August and September are I 24,000 and X 30,000 respectively. Time
lag is 1/3 month. Calculate the amount to be paid in September.

(a) 8,000 (b) 26,000

(c) 28,000 (d) 54,000

Which of the following is not a purpose of budgeting ?

(a) It requires approval for routine spending.

(b) It establishes prices for internal services.

(c) Budgeting forces advance planning.

(d) It communicates management’s policies to sub-ordinates.




